
ECONOMICS

AW©emÒÃ

(318)

Time : 3 Hours ] [ Maximum Marks : 100

g_` : 3 K Q>o ] [ nyUm™H$ : 100

Note : (i) This Question Booklet consists of two Sections, viz., ‘A’ and ‘B’.

(ii) All questions from Section ‘A’ are to be attempted.

(iii) Section ‘B’ has got more than one option. Candidates are required to

attempt questions from one option only.

{ZX}e : (i) Bg ‡ÌZ-nwpÒVH$m _| Xmo I S> h¢—I S> "A' VWm I S> "~'ü&

(ii) I S> "A' Ho$ g^r ‡ÌZm| H$mo hb H$aZm h°ü&

(iii) I S> "~' _| EH$ go A{YH$ {dH$În h¢ü& narjm{W©`m| H$mo Ho$db EH$ {dH$În Ho$ hr ‡ÌZm| Ho$ CŒma XoZo h¢ü&

SEC TION–A

I S>–A

1. Give the meaning of fixed investment. 2

AMb {Zdoe H$m AW© ~VmBEü&

2. Distinguish between primary data and secondary data. 2

‡mW{_H$ Am±H$ãS>m| VWm {¤Vr`H$ Am±H$ãS>m| _| ^oX H$s{OEü&

3. National income is Rs 5,000 crores and domestic income is Rs 4,800 crores.

Calculate net factor income from abroad. 2

amÓQ¥>r` Am` 5,000 H$amoãS> È0 h° Am°a Kaoby Am` 4,800 H$amoãS> È0 h°ü& {dXoem| go {Zdb gmYZ Am` 
H$m n[aH$bZ H$s{OEü&
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4. What are real flows? 2

dmÒV{dH$ ‡dmh ä`m hmoVo h¢?

5. What is meant by land in economics? 2

AW©emÛ _| ^y{_ H$m ä`m AW© h°?

6. A firm’s value of output is Rs 20,000. Its opening stock and closing stock are

Rs 3,000 and Rs 1,000 respectively. Calculate its sale. 2

EH$ \$_© Ho$ CÀnmXZ H$m _yÎ` 20,000 È0 h°ü& BgH$m ‡mapÂ^H$ ÒQ>m∞H$ Am°a Ap›V_ ÒQ>m∞H$ H´$_eÖ
3,000 È0 Am°a 1,000 È0 h°ü& BgH$s {~H´$s H$m n[aH$bZ H$s{OEü&

7. State the law of demand. 2

_m±J H$m {Z`_ ~VmBEü&

8. Is Indian economy a developing economy? Give two reasons in support of your

answer. 2

ä`m ^maVr` AW©Ï`dÒWm EH$ {dH$mgerb AW©Ï`dÒWm h°? AnZo CŒma Ho$ g_W©Z _| Xmo H$maU Xr{OEü&

9. From the following data, calculate closing stock : 2

{ZÂZ{b{IV Am±H$ãS>m| go Ap›V_ ÒQ>m∞H$ H$m n[aH$bZ H$s{OE :

                      Rs (È0)

(i) Stock investment ( ÒQ>m∞H$ {Zdoe ) (–) 7,000

(ii) Opening stock ( ‡mapÂ^H$ ÒQ>m∞H$ ) 8,000

10. What does an outward shift of production possibility curve show? 2

CÀnmXZ gß^mdZm dH´$ H$m ~mha H$s Amoa {IgH$Zm ä`m Xem©Vm h°?

11. Describe any two main features of Indian economic policy before 1991. 5

1991 go nyd© ^maVr` Am{W©H$ Zr{V H$s {H$›ht Xmo _wª` {deofVmAm| H$m dU©Z H$s{OEü&
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12. From the following frequency distribution, prepare a ‘more than’ cumulative

frequency distribution : 5

{ZÂZ{b{IV Amd•{Œm ~ßQ>Z go EH$ "go A{YH$' gßM`r Amd•{Œm ~ßQ>Z ~ZmBE Ö

Class

dJ©

Frequency

Amd•{Œm

10–20 12

20–30 15

30–40 14

40–50

50–60

13

11

13. Explain the meaning and four strategies of sustainable development. 5

YmaUr` {dH$mg H$m AW© Am°a BgHo$ {bE AnZmB© OmZo dmbr Mma ẁ{∫$`m± g_PmBEü&

14. Explain the need for regulating money supply. 5

_w–m ny{V© H$mo {Z`ß{ÃV H$aZo H$s AmdÌ`H$Vm H$s Ï`mª`m H$s{OEü&

15. Complete the following table : 5

{ZÂZ{b{IV Vm{bH$m H$mo nyam H$s{OE Ö

Output

(Units)

CÀnmXZ (BH$mB`m±)

Total Cost

(Rs)

Hw$b bmJV (È0)

Marginal Cost 

(Rs)

gr_m›V bmJV (È0)

Average Variable Cost

(Rs)

Am°gV n[adVu bmJV (È0)

0 24 — —

1 40 — —

2 48 — —

3 60 — —

4 88 — —

5 124 — —
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16. List the sources of revenue receipts and capital receipts of government budget. 8

gaH$mar ~OQ> H$s amOÒd ‡m{·`m| Am°a ny±OrJV ‡m{·`m| H$s gyMr ~ZmBEü&

17. Explain, in brief, any four objectives of economic planning in India. 8

^maV _| Am{W©H$ {Z`moOZ Ho$ {H$›ht Mma C‘oÌ`m| H$s gßjon _| Ï`mª`m H$s{OEü&

18. Calculate National Income from the following data : 8

                     (Rs in crores)

(i) Compensation of employees 700

(ii) Rent 200

(iii) Interest 150

(iv) Profit 350

(v) Net indirect taxes 100

(vi) Net factor income from abroad (–) 50

(vii) Mixed income 250

{ZÂZ{b{IV Am±H$ãS>m| go amÔ¥>r` Am` H$m n[aH$bZ H$s{OE :

(È0 H$amoãS>m| _|)

(i) H$_©Mm[a`m| H$m nm[al{_H$ 700

(ii) {H$am`m 200

(iii) „`mO 150

(iv) bm^ 350

(v) {Zdb A‡À`j-H$a 100

(vi) {dXoem| go {Zdb gmYZ Am` (–) 50

(vii) {_{lV Am` 250
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19. Explain the changes that take place when there is excess supply of a

commodity. 8

{H$gr dÒVw H$s A{V[a∫$ Amny{V© hmoZo go ~mOma _| hmoZo dmbo n[adV©Zm| H$s Ï`mª`m H$s{OEü&

20. From the following data, calculate arithmetic mean by ‘step deviation method’ : 8

{ZÂZ{b{IV Am±H$ãS>m| go "nX {dMbZ {d{Y' ¤mam AßH$J{UVr` _m‹` H$m n[aH$bZ H$s{OE Ö

Class

dJ©

Frequency

Amd•{Œm

0–10 10

10–20 12

20–30 14

30–40 4

318/OSS/210A 6

Download From: http://cbseportal.com

www.cb
se

porta
l.c

om



SEC TION–B

I S>ç~

OP TION–I

{dH$ÎnçI

( Role of Agriculture and Industry in India’s Economic Development )

( ^maV Ho$ Am{W©H$ {dH$mg _| H•${f Am°a C⁄moJ H$s ŷ{_H$m )

21. Describe any two roles of agriculture in Indian economy. 5

^maVr` AW©Ï`dÒWm _| H•${f H$s {H$›ht Xmo ^y{_H$mAm| H$m dU©Z H$s{OEü&

22. How do industries help in exploiting natural resources? Explain with the help

of suitable example. 5

C⁄moJ ‡mH•${VH$ gßgmYZm| H$m {dXmohZ H$aZo _| {H$g ‡H$ma ghm`H$ hmoVo hß°? Cn`w∫$ CXmhaU H$s ghm`Vm 
go g_PmBEü&

23. How is agricultural sector a source of funds for industrial sector? Explain. 5

Am°⁄mo{JH$ joÃ Ho$ {bE H•${f joÃ {H$g ‡H$ma YZ H$m ÚmoV h°? g_PmBEü&

OPTION–II

{dH$ÎnçII

( Population and Economic Development )

( OZgßª`m Am°a Am{W©H$ {dH$mg )

21. Describe the trends of birthrate and death rate in India since 1951. 5

^maV _| df© 1951 go O›_-Xa Am°a _•À ẁ-Xa H$s ‡d•{Œm`m| H$m dU©Z H$s{OEü&

22. Explain the effects of growth rate of population on human resources. 5

OZgßª`m d•{’ Xa Ho$ _mZd gßgmYZm| na ‡^mdm| H$s Ï`mª`m H$s{OEü&

23. Explain the reasons for slow growth rate of population in underdeveloped

economies. 5

AÎn{dH${gV AW©Ï`dÒWmAm| _| OZgßª`m d•{’ Xa Ho$ Yr_m hmoZo Ho$ H$maUm| H$s Ï`mª`m H$s{OEü&

H H H
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